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AR3005 ROIINO.  ceeeenvreennreennnns
Nov. 2023
SURVEYING & LEVELLING

Fruifa w39 [JTferha 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A (i) IH-FAATIFEY Suea s

Note : There are three sections A, B and C in the paper.

(i) QT TH 397 g1 1 & @3} 10 9771 & S JI9T | Fedeh YT U 37 H7 8 T
Gt 10 91T TGHY FHR @ Jo71 & 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QFI7 & & 8 Fo1 7 @ b8 6 Io71 & I ST | JoIF ¥4 3 3% &1 & TF
597 5 SI37/50 Il 7 IR AT |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) QFH & 6 F91 § @ fa1 4 J971 & I ST | IA% I97 8 37 F1 8 0T
$7FT 15 @757/150 93] 7 IR @7 |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) Y% QR & Gl I91 1 FHER TF G T Hiford |

Solve all the questions of a section consecutively together.

(i) @1 areIsT 7 37 8§17 B1 IR 7 33 sgare S A= 8 |

Only English version is valid in case of difference in both the languages.

AR - T
SECTION - A
. () 3t gafed Bryw o fore 8 ot wior sifres 781 g =t
(a) 90°H (b) 60°H
(c) 80°d (d) 120°%
For a well conditioned triangle, no angle should be greater than
(a) 90° (b) 60°
(c) 80° (d) 120°

(1 of4) P.T.O.
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(i) Teh 95 Hag o &9 H IR feparn o 2 5 6 e fag W g W |
TR0 BT 2 |
(a) THAA W@ (b) ¥HAA Tag
(c) &fas uag (d) fEd

(111)

@iv)

v)

(vi)

(vii)

direction of gravity.

is defined as a curved surface which at each point is perpendicular to the

(a) Level line (b) Level surface
(c) Horizontal surface (d) Datum line
TAA Y o1 [GHEATIH ToharT ST Heha 8
(a) o HEE R (b) UTETEAR W
(c) 3I<"BAY (d) Iwed gt
Orientation of plane table can be done by
(a) trough compass (b) back sighting
(c) resection method (d) All of the above
FR U = & s s ST BT 2
(a) dTen g B (b) e Td Fa
(c) HrEmwE&a ) FrawEdw
An Invar tape is made up of an alloy of
(a) Copper and Steel (b) Brass and Nickel
(c) Brass and Steel - (d) Nickel and Steel
“ofHn fog” WA= S e € -
(a) Ttk e (b) T v
(c) ITUTSEAISh Td qg=ITaeiieh (d)  3TUTIEATH T HEATael e
The following observation are taken on “Turning point” :
(a) Foresight only (b) Backsight only
(c) Foresight and Backsight (d) Foresight and Intermediate sight
TH @ u1d) W@ w e e W afiese s |
(a) 60° (b) 45°
(c) 30° (d) 90°
Contour lines crossed ridge line at which angle ?
(a) 60° (b) 45°
(c) 30° . (d 90°
TS TG < T e @i &1 7 2 (F8T R gedft i s R)
d? 1 d?
a) — BY. . i
(@) 2R ®) 7 2R
6 d? I d?
C) W d) —x—
(c) 7 * 2R @ 7 i R
What will be the value of correction for Refraction as applied to staff reading (where
R is radius of earth) ?
d? 1 d?
(a) 7R (b) r x 5K
6 d? I d?
c) —x— d)y —x—
(c) 7 2R W 7 R
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(viii) TTeX Sie ! TS Bt 2 |

(a) 66 (b) 50
(c) 100 (d) 1509

The length of a Gunter’s chain is
(a) 66 feet (b) 50 feet
(¢) 100 feet (d) 150 feet

(ix) Te frem gesht S aehal sl argar & S 8, FEar 2

(a) YGHAA a0 (b) Y98 HAU
(c) Y- Feu (d) g-miffa g
What is the survey in which the curvature of the earth is taken into account called ?

(a) Plane survey (b) Geodetic survey
(c) Cadastral survey (d) Geological survey

(x) T G T Teh gER i T 39 STe # e Hehdl &

(a) vErSiH (b) e |

(c) Al Tgeq (d) THdS e d

Two contour lines can cross each other only in case of

(a) Inhillock (b) Inpond

(¢) Inoverhanging cliff (d) Inplane ground (1x10)

A — <t
SECTION - B

TEQOT T | 371 T <Y TR shiieh Feleol sl wHse |

Explain working from whole to part. 3)

e Sie 6 e faa afgd awemsy |

Explain with diagram the constructional detail of metre chain. 3

I AU | 19 M Gt ITHWN o6 A fARed wd fopeal €1 o1 aviv HIf |

Write name of the instruments used in plane table surveying, describe any two. 3

TA | I3 6 Fers” ol gHesy |

Explain the “Height of Instrument” in levelling. 3

U AU ] THTFT A a1 hieh faRed |

Write down factors which affect contour interval. A3)

SAUTTATHRA J GTTEAlRT | 3T &8 U |

Differentiate between foresight and backsight. A3

P.T.O.
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8.

10.

11.

12.

13.

14.

15.

e HaeT & e fafi=T guert et 1 JHEs |

Explain the various compensating errors in chain surveying. 3)
TS HeeTT o Igavdl hl FHHTS |
Explain the purpose of plane table surveying. A3
qH —
SECTION -C
feafeén oraet &1 fom agT wd g5k fafyr= vt & st ot awensd |
Draw the diagram of tilting level and explain the function of its different parts. t))

et veet o fespeemum it fafir= fafert w1 i iR |

Describe the various methods of orientation of plane table. t3)

= A9 o 3 fofed, fomt <h v g |

Write down uses of contour maps with the help of sketches. &)

SIS 1 HhIehtoT S8 Tera ST 2 2 afe S sl oS SuTel &1 a1 38ehT THeH HH feman
TR ?

How is a chain to be standardized ? How is the chain to be adjusted if it is found to be
too long ? t))

THAA TI& F g5 HA&T0T H 3T T H |

Differentiate between plane surveying and geodetic surveying. ®)

TS A Td T 6 ggrEal § frefaiad weaames s 9 o) e | oee @ g, 1Y
3R 3113 UTSATH & STE TN FehaT 7T

0.875, 1.235, 2.310, 1.385, 2.930, 3.125, 4.125, 0.120, 1.875, 2.030, 3.765 m

TS qeIUT & URTehT 1 I8 S5 U IWiE ot ureHies s gl iR | Afg uedt T
TYH &1 FAHIG ad 132,135 m &, @ g+ft fargatt 3 warha oo sma 1 |

The following readings were taken successively with the help of a level and staff, the
instruments have been moved after second, fourth and eight reading :

0.875, 1.235, 2.310, 1.385, 2.930, 3.125, 4.125, 0.120, 1.875, 2.030, 3.765 m

Lay out a page of level field book and enter all the above readings. If the R.L. of first
staff station is 132.135 m then determine the R.L. of all points. 8)




